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SECTION-A
i) General Awareness

After J, Jayalalitha was imprisoned,
_ became the Chief Minister
of Tamil Nadu.

{A) Karunanidhl

(B} V. N.Sudhakaran

{C) D. Panneerselvam

(D) None of thesa

Counting of votes polled began on
Sunday, Oct. 19, 2014 for the

Maharastra and State
Assamblies.

(A} Gujarath

(B) Haryana

(C) Odisha

(D) Madhya Pradesh

The proposal of the Karnataka
Government to changa the name of
Bangalofe: 1o ____ has been

cleared by the Union Ministry
recantly.

(A) Bengaluru
(B) Bangaluru
(C) Banglur

(D)
Vicioria Memorial Hall, which

contains an enviable collection of
paintings, sculptures etc, is located in

(A} Mumbal
(B) Delhi
(C) RKolkata
(D) Chennal

Benglur

5.

8.

Which one of the following rivers
thrice forks into two streams and
reunites a few milas farthar on, thus
forming the islands of
Srirangapattanam, Shivasamudram
and Srirangam 7

(A} Cauvery
{B) Tungabhadra
(G) WKrishna
(D) Godavari

Gautam Buddha was bom in

(A} 1000B.C.

(B) 626B.C.

{C) 563B.C.

(D) 100B.C.

When was the first railway line
(Bombay to Thana) opened 7

(A} 1857 (B) 1853
(Cy 1912 (D) 1803

Name the currancy of Japan.
(A} Rouble

(B)
(C)
(2}

Dollar
Rupee
Yen

Mama the capital of France.
(A) Vienna

(B) PRoms

(C) Paris

(D) Dublin
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(A) TETH (A) 1000 B.C.
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(o {C) 563 B.C.
(D) REET (D) 100B.C. |
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10,

11.

12,

18

14.

12

Fundamental Rights are snumerated
in the part of our
Constitution.
(A N
c)y W

B) Ml
o) v

Name the first Govemor General of
india (Indian).

(A) C. Rajagopalachari

(B) Pt Nehru

(©) M.K.Gandhi

(0) Vallab Bhai Patel

L. B. W. stands fof

(&) Leng Before War

(B) Least Bothered Woman
(C) Leg Before Wicket

(D) Left Bat Winner

The Government of India acquirad the
ownership and control of 14 major
banks In whose deposils
wera not less than Rs. 50 crores.
(A) 19865 {B) 1975
(Cy 1878 (D) 1869

Jaipur Pink Fanthers igam Is
associated with

(A) Kabaddi

(B) Valieyball

(C) Footbal

(D) Cricket

On Aug. 19, 2014, Board of Caontrol

for Cricket in India (BCCI) appeintad
as the Director of Indian

cricket team.

(A) Azaruddin

{B) Anil Kumbla

{C) Ravi Shastri

(D) None of these

16.

i7.

18.

19,

20.

e

Watarstﬂr'ﬂhmﬂ'igmamlﬂuf
(A) 0°C
B) —4°C
(€} 3°C

(D) None of these .

Sutlej is a part of
(A)
(B)
(C)
(D)
Ramacharita Manasa was written by
(A) Valmiki '

(B} Tulsidas

(G) Purandaradas

(D)} Kanakadas

Ganga
Brahmaputra
Indus
Teesta

Unitof reeasurement of heat is
(A) gram
(B) meter
(C) ecentigrade
(D} calorie
iz used 1o leave spaces
after typing every word.
(4) Space bar
(B) Shift
(C) Control key
(D} Delete
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(A) Long Belore War
(B) Least Bothered Woman
(C) LegBefors Wicketl
(D) Left Bat Winnar

—— s i —— e i

TFRA T 14 909G

B i S w3

T T o P (Rewnf) S0

R AEiY |

(A} 1985 (B) 1875

(c) 1879 (D) 1968
14, ﬂg{#ﬁﬁﬁﬂg?mwrﬂ

I

(A) Tl

B a"ci'éﬁ‘l‘a

© F=

oy B
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16.
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18.
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(A] 0°C

B) —4°C

(Cy 3C

(D) T B o e
wies_ FITEEME|
(A) T

(B} FEH
(c) Wy
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ii) General Intelligence and Reasoning Ability

Directions (Q. No. 21 to 24) : In sach of 26. Bird:Fly::Snake:?
these questions, there are 4 words, three (A) Timid
of which are alike in some way and one is

(B) Clatter
differant. Find the different word.
(C) Crawl
21. (A) Copper (D) Hole :
(B) Silver 27. Flower:Bud:: Adult: ?
(C) Stesl (A) Alter
(D) Gold (B) Baby
{C) Kitchen
22. (A} Apple (D) Break
M
o) TS Diractions : (Q. No. 28 to 30)
(C) Orange
KA=5 B=6C=7, D=28zandscon, what
(D) Patato do the following numbers stand for ?
23. (A) Holiday 28. 6. 22 19 27 18 ;
(B) Good Friday (A} Graen
(C) Independence day (B) Black
(D) Republic day (C)' Whis
(D) Brown
B ) TRt 29. 22514 518
(%) ‘hajor (A) Bimal
(C) Actor (B) FRajan
(D) Dogctor (C) Balan
D jat
Directions (Q. No. 25 to 27} : Find the correct {0,
l . tarm wihich can replace the question mark. 30. 65221885
(&) Cochin
25. '2,6,12,20,30, 7 {B) Bombay
(A) 42 {B) 52 (C) Madras
(©) 50 (D) 40 (B) Baroda

A &
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(B) TEEES o ey by
4 W‘E 28, 6§ 22 18 27 18
D) TuREE= g =
24, (M) &= Al 2
E:':; 29, 225145 18
(D) ST (a) e (B) TR
ﬁﬁm{ﬂ-ﬁﬁﬂ?mﬂﬁﬁﬁﬁmﬁﬂ (C) =W (D) =@
T 30, 65221985
95. 2,6,12,20,30, ? o7 "
s o (C) WEE (D) BT
(C) 50 (D) 40
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33,

34P

35.

A=*

=MIL KIT PIK, ‘who' 18 by
(A) FIK (B} NIL
{c) TIN (D) KIT

Wwhich of thase words cannot be
tormed from the word
PLEASU RABLE 7

(A) LASER

(B) SEAL

(C) SAMPLE

(D) SALABLE

' is ot as tall as B! who is taller

than ‘A'. E is taller than ‘C' but not as
1all as ‘D’. Who is the tallest ?

(AY E B) D
(C) A Dy B
Navesn travels B km towards Wast,

from thera goes 8 km o the South,
from there travels 16 km to the East.

- {nrwhat direction ia he now from his

starting paint 7

(A) South-East

(B} South-Wesl

(C} North-East

(D) North-West

Lasla ls my mothers only husbands

daughter's sister. How is Leela
related tome 7

(A} mother
(B) daughter
(Cy sister
(D) aunt

36.

3,

40,

Directions (Q.No. 36 and 37):A,B,C. D,
E, F, G, H are sitting In a circla not
ms&aﬂtr in this order, facing the cantra.
A is facing B who is in the middie of E and
G. G is to the right of G and is and |gitto A
F is facing E. Diainﬁnarnbdﬂaul‘HandE.

Who s sitting immediate to the right
of A7

Ay G B H
) F ™ E
Wha is facing H ?

(&) G (B) F
(C) E (@) B

FACE : HOEG 1: LTPB ;7
(A) NRVD
(B) NVRD
(€) NWRD
(D) NVDR

NILE : EGYFT : - THAMES : 7

(A) CHINA

B) INDIA

(C) ENGLAND

(D) PAKISTAN

If P represents '+, M represants x .
g represents =, D represents '+,
16P14D2583M5="7

(A) O

(B) 8

(c) 8

(o) 10
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31, “wfz s ErHTIN PKNIL 59
Ffmw oI R R
“NIL KIT Pl % =9 8,8 & #
fafafie S T A R 2
(A) PIK (B) NIL
(G} TIN (D) KIT

IR # FE 5% F PLEASURABLE
e SRR s aEm e ?
(A) LASER

(B) SEAL

(C) SAMPLE

(D) SALABLE

o B HwE S A e R A E
Fmriecedfitmiafmo ®
L e | ARG R ke e e A
(A) E (B) D
{C) A (O0) B

== ofeam 1 = 8 Toe e amn
= 3, T aet g foeert ofiz g
dr st e b E
s w B | =g 9 o A g E
rafmdds

() -

(B) Fm-uiFEe

(c) FR-H

(D) FA-afEm

e Rt s A
A o ofen & A S EE R 7
(A) T (8) =
(C) = (D) =

33

-
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fadvrr (v.36 31 37) 1A, B,C,D,E,F,. G, H
3 oft U e © 48 B0 8, e AR 8 1 SH] FH
#, ST o sfbma s R A
pfsindafrngan s sl F T
2| 'c G s ivae A EE A
I T |'F Ef s sinE? D H
ATEFRAIRT |

36, B A ¥ i Ffedt AT ASTFAR |

(A) G B H
icy F () E
97. HEAFAFHE?
A} G B) F
(C) E o) o
28, FACE:HCEG::LTPB:?
(A] NRVD
(B) NVRD
(C) NWRD
(D) NVDR
8. MILE ; EGYPT :: THAMES : 7
(A) CHINA
(B) INDIA
(C) ENGLAND
(D) PAKISTAN
40, =fE P Y4 1 WAEATETE, M ‘xR
whiffre, 5 “wwIAWD W
T e,
1§P14D2S3M5E="7
(A} O (B) 8
(c) % (D) 10
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41, IfJz2 =1.414, .18 =7
(A) 5.242
(B) 6.424
(C) 4.242
(D) 3.242
42. The ratio between the three angles
of a quadrilateral Is 12: 17 ; 20, The
fourth angle is 115°. Find the
difference between its largest angle
and smallest angle.
(A) 55° By &0°
(C) 507 (D) 65°
43. 25 workers need 20 days to finish a
work, If 5 of them do not work, how
marny days are necessary to finish the
same work 7
(A) 22 (B} 25
G) 27 D) 28
44, If a sum of Rs. 30,000 fetches
Rs. 5,400 simple interest in 2 years
find the rate of interest.
(A) 7% B} 8%
(C) 9% D) 10%
45. |fthe average weight of 3 students is

50 kg and average weight of othar
3 students is 40 kg, find the average
weight of all these 8 students.

(A) 44.5kg
(B) 40.75kg
(C) 42.25kg
(D) 48.75kg

46. 50%of {2116 +0.01= 7 =200

(A} 115 (B) 10
© ¢ () 12
Express 6%% as a fraction
5 1
W 3 ® .
1 3
© 3 (D) 0

When an article is sold for Rs. 28,
thera was a profit of 1295, What should
be the selling value to get 20% profit 7
(A) FHs. 29
(B) Rs.32
(C} Rs.30
(D) Rs. 31

Two uUnblased dice are tossed
simultaneously. Each die has
numbers 1 1o 8 on its faces. What is
the probability of getting of a total of 5
on their faces ?

2 1
A 7 ® 3
3 1
© o o 3

The diameter of base and the height
of the cylinder and a cone are same.
What is the ratio between their
volumeas 7

(Ay 3:2
(€Y 5:1

(B} 4:1
(D) 3:1
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i) e TRTe T W FET ST
4y a2 =414, 18 =7 46 50%of 2116 +0.01="7x200
(&) 5242 (B) B.424 (A) 115 (B) 10
(C) 4.242 (D) 3.242 cy @ (o) 12
ap. o A T 5 S S s7. e A E H B = S|
12:1?:20%%#1“1115*%13@2 (A) % (8) 1_'% |
mﬁ%ﬁmﬂmﬂi&aﬁwﬁa : s
= . e = T e | € 73 ® 15
A) 557 (B B0
:;} 50" {:ﬂ o 4B, @ U TG W 28 T A 7= 0
12%mwm!ﬁﬁﬂﬂﬁ%mqﬁ%
43, o ey 20 | e B o oy o g T BT O, ?
iiaﬁﬂﬁﬂaﬁmmqﬁmﬁ?ﬂm (A} Rs.28
maﬁ@aﬂﬁﬁmﬁﬁ?ﬂﬁﬂ (B) Rs. 32
ST 7 (C) Rs 30
(A) 22 B) 25 (D) Rs. 31
Yy = B <8 yo. 2 B A T e e
5 ﬂﬁﬂﬂ.ﬂﬂﬂﬁ‘ﬁtﬂﬂrﬁﬁﬁ.dﬂﬂmﬁ E‘]Hﬁﬁﬂ#ﬁﬁm1ﬂ5ﬁﬁ

mwwmm%ﬁm
mETR?
By 7%
{C) 9%

B) B%
(D) 10%

o ke R 50 el & o

=y & et = afTER T 40 Temi
3 | o & et 8 Frenfiial & 2wn T
1 T TR |
(A} 445kg
(B) 40.75kg
(C) 42.25kg
() 43.75 kg

50,

Feqea YEIT & | S AR 5% Fet o
HgwER s ?

5 1
L B B 3

5 1
e = B} 3
ﬁmammﬁﬁﬁuﬁﬁ
mmﬁﬂﬁmﬁmﬁmﬂﬁ
35 ofr T ST A € 1
(&) 332 B) 4:1
() 5:1 (D) 3:1
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The ares of acircle is 154 sg. cm. Find
its perimatsr.

{A) 55cm
(B) BBcm
(C) =0Dcm
(0) 44cm
L. C. M. andH. C. F.of 2 numbers are

50 and 12 respectively. if one of the
numbers i 30, find the other.

() 24 (B) 26
(C) 20 (D) 40
Fs. 27,000 is invested in 2 Rs. 100
share quoted at 10% discount. If the

rate of dividend is 15%, find the
dividend eamed.

(&) Hs.4,000

{B) Rs. 4,800

(C} HRs 4,500

(D) PRs.5,000

Using the digits 2, 3, 8, 5, 7 how mary
4 digit numbers can be tormed ?

[A) S0 (B) BD

(Cy 55 (B) 45

Find the 20 term of the sequencs
7180, 13,18, ...

(A) B3
(C) 85

(B) &4
{D) 68

A
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56.

&7.

58.

A R

In a class of 45 students, S0ME speak
English, some speak Telugu and
sorne speak both, If 30 speak English
and 20 speak Telugu, how many

speak Telugu only 7
(A} 18 By 17
(G} 16 Dy 15

IfEx::‘:‘randEy=Ez,::z-?

(&) 9B (B} 6:10
(C) 9410 (D) 2:7
Express 36 kmhour in misec

(A) 10misec

(B 15mfsac

(C) T12mssc

(D} none of thesa

l:-nmjf:':\LIﬁﬁ. interest on Rs. 5,000 at
1% for 2 years is

(A} Rs. 1,000
(8) Rs.1.050
{C) Rs.1.500
(D) Rs: 1,200

The sum of mother's and daughter's
ages |s 48 years. 6 years aoo,
mether's age was 5 times that of her
daughter. Find the daughter's present
age.

Ay 15yrs,

(B} 10yrms.

(C) 1Byrs.

D) 12yrs
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51. TF g9 @ 89 154 1 B0 B | 398

23,

Tffes =1 oA svmEn |
(A) 55T,
(B) sBHE.T,
(C) Bo# ..
(D) 44745,

2HEAF L C. M, 3 H. . F. 7
Euaﬂnzﬁmﬁ:ﬂﬁﬂqmmm%

dl gt 7

(A) 24 (B} 26

(€ 20 (D) 40
10% ¥ 92 397 ¥4 W 100 794
T % fom 27,000 79 frEm ftt
TP T W 16% 2. 7w R
T T AT e |

(Al ¥ 4.000

(B} % 4,800

(C) 3.4,500

(D) % 5,000

2, 3, 8 5, 7 ¥ =z |1 3w w5
3 FERE| o o wed s e B
(A) 50 (B) &0
(&) 55 (D) 45
7,10, 13, 18, .. 1 20 Ff 315 H
rﬁxwmﬁrrrsm

{A) &3 (B} 64
{C) €5 D) &6

-15

a6,

a7,

58,

a8,

60.

JDD-22/PGT-ENGGDRW/X-14

ﬁﬁaﬁmiﬁrﬁmﬁiﬁaﬁﬁﬁ
=TeTt 7, &% T o £ ol 3w

ﬁﬂﬂmﬁ?ﬁﬁiﬂﬁfﬁﬂﬁlﬂﬁﬁaﬂl
20 T e B, & R i 3

e A 7
(A) 18 (BY 17
{C) 18 (D) 15 F

T2 2x =3y M Sy =8z % 2= 2

(A) 9:86 (B} 6:10
iC) 2:10 D} 2:7
A 4 3 36 Pl S el w2 8, A
Hiet win #3E = fewrE 3 i

(A) 10 i

(B) 15 i, /e

{C) 129, /g%

(D) WHAFE S

5,000 7= T 10% 4 fema @t 2 4t &
Tt e b

(A) % 1,000

(B} % 1,050

(C) %1500

(D} %.1,200

A A s Am g wd B 599
WESH W i I I 48 A 5
=R |28 F sm s wgm sy
(&) 15794 (B) 1055
() 1899 (D) 1294
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v} Test of Language : Hindi
AT Oter - Rt
ﬁiﬁf:mﬁﬂ:maﬁﬁmﬂwaﬁ 64 T
TRt Tt |
{A) e
B1. =@ iR .
(A sy {C) w=R
(B) fasm (D) =
(C) Frd
& faw.e5 3 68 = ey et o A
T Hae ferfim
(A % (8) ==m AR
B) aEn
® (B} h=mam
(C) wm
” (C) TrmEw
(D) w3
(B) T
63 I 86, ﬁlﬁﬁ'
W )
B) ZETERE
. B) Tem
(C) Ham
(D) &= iE7e A
(D) Frw

A= A6




oad From - www.allgovtjobsindia.in

(e A0 S A R B
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v) Test of Language : English
T wter ¢ STt
81. ‘'Arnsing star means Directions (Os. 86 to 88) : Choose the one
(A} A person coming into which means most nearly the opposiie of
prominence the given word.,
(B) A star which shines the most
86. GENUINE
(C) Astar that ises the highestin
the sky (A) reliable
(D} A star which appears monthly (B) faka
once
(C) real
g2. ‘“Insand ouls® means O} tue
(A} Very near
B) Inside picture 87. DURABLE
(C) Difficult problem [A) delicate
(D) Two uncomparable things (B) brown
(C) lasting
Directions {Os. 83 io B5) : Salecl the ons
which is correctly spsit. (D) perishable
B3, (A) Seperale (B} Separale a8 ACCUMULATE
iC) Seprate (0} Separst
(A} divide
84. (A) Parallel (B} Parrallel
(B) add
(C) Paralal (D} Paralel
(C) heap
85. (A} Achiave (B) Acheive
(C) Acheeve (D) Achive (D) emulate
A= ETS
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Directions (Qs. 89 to 51) : Choose the ona
which means most neary the same as the
given word,

88. RAW

el.

a1.

(&) reach
(B) uncooked
(C) trall

(D) prepars

FATAL

{A) fashional
(B) favorable
(C) deadly

(D) simpls

MATIVE
(A inbom
{B) nepative
(C} allen

(0}  mobile

.allgovtjobsindia.in

b
11150 0 00 A

Directions (Qs. 92 to 94) : Choose the bast
order which praduces the original semenca,

g2,

83

1. he/2. of reading/3. and wanted to
playfd. was tired

(A)y 1.4,3.2 =

(B) 4.3,1,2

(Cy 1,3:4,2

(D) 1,423

1. of the micuniain/2; stands'3. at the
top/d. a monumental cross

(A)- 2.4,3,1

B 3.1,2, 4

8) 1340

D) 4,21, 3

1, The decay/2. was caused by/

3. internal corruption/4. of the Reman
Empira

(&) 1,4,2,3
B8) 41,28

{C) 8,2,1,4

() 4,321
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Directions (Qs. 85 and 86 ) : Read the g8, *How selfish they are !" — This
passage given below and answear these sgnience is santence,
questions given at itsend on the pasis of the

passage. (A) an Assartive

My father was passicnate about two things .

sducation and soclalism. He was himself a (B) anintarrogative

born teacher. Indeed he could never restrain (C) anlmperative
himsalf from teaching and as a small boy |
was fraquently embarrassed by his desira (D) an Exclamatory

bo instruct every body people In railway
carriages, for instance. | realisad thal itwas

an innocent desire, He was equally raady 09, She works sincerely.
to recefve instruction. To man of his
generation, education was the great golden In the above sentence, the pari of
gateway io the enchanted rzaims of the speech of ‘sincerely’ is
mind.
A) adjective

a5. According to the author, his father Ay

(A) wasa communist (B} -adverb

(B) was a novelist (C} conjunclion

(G} loved teaching (D) intarjection

(D) was alazy man

100. -
96. For his father, was lhe 00. The parents followed the chiidren,

golden gateway to the enchantad The passive voice of the above
realms of the mind.

sentence s
(&) instrumenis

(&) The children are being

(B) education

(C) socialism loflowad by the parents

(D} travel by train (B) The children were being
followed by the parents

o7. The plural of ‘woman’ i
(A} - womans

(C) The children are followed by

the parents

(B) wemen
(D) Thechildren were followed by

the parents

(C} women
(D} none of these
A= 21
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101.

102,

103,

104,

A=

SECTION-B

w
0 0 0 O O 0 g

Fost Specific Subject-Related Questions

Line composad of closaly and avenly
spaced short dashes in a drawing
represents

(4) visible edges

(B) hidden edges

(C)  hatching

(B) pitch circle of gears

In erthographic projections, the rays
are assumed to

(A) diverge from station point
B) converge from station point
(C) ba parallgl

(D) none ofthass

Graphics is used in the enginesring
design process for

{A) communicating

(B) conducting dnalyses
(C) sohving problems
(D) all of the above

The hsight, width and depth of an
object can be shown with a minkmum
of how many orthographic projection
views 7

(A six =)
C) two DY four

thres

105.

108,

107.

108,

A sphera can be describad in how
many views ?

(A) 4
B) 3
c) 2
D) 1

An axially symmetric object, such ag
one turmned on 3 laihe, normaliy can
be shown in viaw(s]).

(A) one
(B) two
(C) thres
(D) four

Comparative scaig is 8 pair of scale
having & commen

(A)  units
(B) represantative fraction
(C}  length of scale

(D)  least count

Anangle can be set off and Measured
with the help of

{A) plane seals

(B} diagonal scals
[C) comparative scale
(D) scals of chords
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101.

102,

103,

104.

A#*

o
e FirfEEe e et T

e Ferpen 5 FaeT S0 HOR A6 T
warinaffa____#
i T Fa e |

() e e

(B) s AN

(C) BT

(o) st & g

e T R T W A W
EiGikd

(A) R A AT
(B) ez | gf=T
(C) T T Bl
D) FEEFE AT

stfirifrs feem ol A ol =

(&) HEEAFE
@) fowmmEA
() TR e
(D) IFEEEE

Sererey T ATy SRR an E1 A
frarmasdis

(A)y B
€y =

(B) TH

(D) JK

105.

106.

107.

108.
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e o) e gt @ i
AEEAME |

(A) 4

@) 3 ’
c)y 2

D) 1

T W HHEG 9, 90 0 e W
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TfEmm e g 7

(A) T ® @

(Cy &R (D) =R
Wmﬁm___ﬁ
T WS FAE |

(&) FEEAEl

(8) wiaf

(C) s FrEEr

{0y s7as R
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T SEE A

(), TR

(B) e
(C) T T
(D) T uTH
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109,

110.

111

112,

Lettaring on a drawing sheet should
have

(&)

B
()

all alphabets in capital letters
all alphabets in small lettars

ina sentance only first alphabet
in capital letter

In & sentancs only abbraviaticns
are in capital latler

(0

Superimposed dimensioning Is a
gimplified method of

(A)
=)
(C)
(T

chain dimansioning
parailel dimensioning
combined dimensioning

tabular dimensioning

When two anglss logether make 807,
they are called

(&)
(B}
(C)
{0}

obtuse angle
raflex angle
complemantary angles

supplementany angles

Which is not a principal view ?
{A)
{B) bottom

frorit

(C) auxiliary
(O] lefiside

=24

113,

114,

118,

118.

The Included angle of a hexagon is
(A) 307

(B) BO°

(C} 120¢

(D) 150°

Which line type is thick and black 7
(A} visible lines

(B) center lines

() construction lings

(D) &l of the above

Which type of line is part of a
dimansion 7

(A) Bbreak linss
(B) phantom lines
(C) extension lines

(D) cuting plane lings

The primary unit of measurement for
enginesring drawings and design in
the mechanical industries is the

(A)
B)
(C)

millimatar
centimetar
rmsler

(D) Hilomatsr
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100, T e S i e 5
AT

(A) Tt vl i e S A

(@) wedt il = wE e o

(C) rer v T T e w1 e A
e,

T L e T A B R
d g e

\D)

110.

1L

112,

A

113,

114.

115.

118.
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Tz AT S
(A) 30°
(B) ®0°
(C) 120°

(D) 1507 '

<l Yt o e MR A T B
(A) T T

(B) Wl

(Cy TR T

(D) SUR

i P e o T ST A M
(A fvwiEm

(B) I T

() FramEd

(D) TR e
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117. *“A"saries of paper has length to width
ratio appreximately

(Ay 3:2
B +3:1
cy Y2:1

(D) 5:3
118. Extension arm used with enginearing
compass to faciiitate
(A) Todrawcircle of large diamatar
(B) To increase gripping amm
(C) Toadjustdistance betwesn legs

(D) To mncrease accuracy

118. Which one of the following

publications made by Bureau of
Indian standard includes standard
techniques for line conventions and
lettering in detail ?

(A) SP48
(8) BIS 2680
(C) ASMEY14.2M

(D) 1508000

i20. The inclination of letters as

recommended by BIS is
[A) 757
B8 7o°
(C) -B5°
(o) &0

=25

12t

122.

123,

124.

The langth to height ratio of an closed |
filled arrow head is

Ay 1:3
By 3.1
{C) 1:2
) 2:1

Rounded interior comer is called
(&) Round

{B) Chamfer

(C) Fillet

(D) Countersink

Which two graphic entities are at a

‘constant distance apart along the

length is commonly referred as
(A4) Concentricity

(B]
()
(D)

Parallelism
Perpendicularity
Chordality

If a line intersects a circle al two
points; not passing through the
centre, the line segment inside the
circla iz referred as

(A)
(B)
1<)
(2]

Hadial line
Chord
Cluadrant

Sequant
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(Ay 3:2 (B) ¥3:1
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118, it ST F oy g ST

e s gRTEs
A |

() FEEEEEEA

(B) weEIES H agH

(c) e AR
(D) R i 5e

110, FrafiEa & S WA e 5
7 i T A e w3l ol e
=1 41 i F A * R A
A T g
(A} SP 46
(B) BIS 9690
(C) ASME Y14.2M

(D} 150 8000

120, BIS g faEire = g Hed FvEi
Ay T75°

{8) ¥o°
(C) B5°

(D) B0¢

A
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121,

122,

123.

124,
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Ay 1:3

B) 3:1
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(C) wiz=
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125.

126,

127,

128,

When measurements are require in
three consecutive units. the
appropriate scale is

{A) Plain Scale

(B) Diagonal Scale
(C)
(D)

lsometric Scale

Scales of Chorde

Scale of Chord is usad to measuras
(A) Length of Chord

(B) Arclength of Chord

(C) Angla of Chord

(D) Al of these

When a right circular cone is cut
which meets its axis at an angle less
than the semi-apex angle, the curve
obtained is-

(A)
(B)
(G}
()

Ellipse
Parabola
Hyperbola

Triangle

The lecus of a point lying on the
circumfgrence of the circle which rolls
on a siraight line is known ag

(A)
(B}
()
()

Cycloid
Hypocycioid
Epicycloid
Circle

128.

130,

131.

132

L3
O T30 O 0 A0

Involute curve is used in
(A)
(Bl
(C)
(o)

Chains
Gears
Cams
Pullays

Which one of the following mathods
s not used for drawing elliptical
curvas 7

(A)
(B)
(€]
(0)

Intersecting arc mathod
Concentnc circles mathod
Oblong method

Tangent method

In multiview projections, the XY iine
ls also known as

[A)
(B)
()
(D]

Horizontal line
Horizontal trace
Reference line
All of these

The recommended symbols for
Indicating the angle of projection
show two views of the frustum of a

(A)  Square pyramid

(B} Triangular pyramid
(C)
(0}

Cons

Mone of thesa
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133-

134,

135.

136.

A=

it an object g5 I third guadrant, its
position with respect 19 raference
planes will b&

437. The top and right side yiews have
Comimon dimansions of

(&) haﬁg’rﬁtandwid'lh
(B) widlhanﬂ&amh
(cy height
) depth

The solid having a polygon for a base

30 mm abave raference fing (Y, and triangularl |ateral faces
then its positicn will be iritarsecting at 2 verex s

() Somm infrant of V..
{8y 30mm pehind V.P.
{cy 30mm apove H.P.
(oy S0 mm welow HP.

(B) prism

wi
Herpendicular 19 V-7 hen ihe pehind VP, #1510 Jiow will be
sactional view of the phject 15 (A) o0 mm below WY
obtained in
. =] 20 mim pelow XY
(A) tap VIEW

(B) front view

(c) el eicle viaWw

(D) right sida view \
140, Mboth lrﬂhﬁnimﬂ-mﬂtpp‘ﬂﬂ'ﬂm ofa

\When a surfac® of an gbject i
inclined o @ p1anﬁ'n‘1‘mu1uaﬁt’:ﬂﬁ. i wilh
appear in the view

(&) foteshonenad (A} Firstor second

By Intrug size and shape (By Firstor third

{cy asaline (G) ‘Sacond of fourth

(D) asa point (D) Trird o fourth
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(8) V.P.F S, HP. F I
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(Cy w1 FH e

(D) 2 2T & gl

W U o F HAE WA ¥ wHed T
A & Al 98 g wer R T

() =0 HEHT 9 H

B) YT HFEA

(C) tEiHEE

D) FEFwH

137.

138

138.

140.
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141.

142,

143.

| A

if the apparent and the ftrue
inclinations of a line with HP are
equal, the line is

(A} Parallelto horizontal plane
By Parallel to vertical plane
(G) Parallet to profile plans

(D} Inclined 10 both reference
planes

The point at which the line intersects
the VP, extended if necessary, Is
known as

(A) Profile trace
(8) Horizontal trace
(Cy Vertical trace
(D) Auxiliary trace

I aline 15 inglined at 45° to the HP
and 30° ta the VP, its front view is
inclined at

(A) 30"t XY

(B] 45°to XY

(C} Betwesn 307 -and 45°
(D) Graater than-43"

It the front and top view of a line are
inclined at 30° and 43" 10 the
raterence line, the irue inclination of
the line with HF will be

Ay 30°
(B) 437
(G} Lessinan a°
0] Groaler tham43°

——

145.

148.

147.

(B

148

Hﬂﬂlﬂ!ﬂl‘lllillﬂlﬂ‘-

i both the front and top views of &

ling are perpendicular 10 the

reference line, the irue inclination of
\ha line with HP and VP may be
respectively

(A} 15°and75°

30° and 60 ° ‘
Both 4537

All of the above

()
(o)

inclined planes In 2 thrae-view
drawing will appear as

(A} two suriaces and one edge
(B) one surface and two edges
(C) three edges

() toreshorianed in each view

Hattfnsat-w;ﬂmhsmperp&ndtmw
ta both the harzontal and verlical

planes, its frue shape is seen in
(A
(B}
()
(D]

Horizontal piana
Vertical plana

Auxiliary inclined plane
Profita plane

It a circular plane 18 inclined at 30°
with the HP and §0° with the VP its
sirde view will be

(&) An ellipse

(B) A straight fine

cy A circle

(D) Trueshaps
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142,

143.

144,
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(C) e wHae 1 FAT
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(A) i g

(B) e SEe

(C) FeErat sEe

(D) wERT

afa ' T HP W 45°, VP 30° TR

g3 #1 Al 3\ T geEm
TR ENE

(A} XY =300

(B) XY i45

(C) 30" #HARF 45°F =14

(D) A5~ fimEe

1f2 o T F w5 R g
sra E 307 3N 45° SR B A
HP & aTa 36 TE 1 Je 3 el
(A} 30°

(B] 45°

(C) 30°HEFH

(D) 45" HTEW

145.

146,

147,

148,
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148, |fthetop view of a plane is a rhombus

the object may be

(A} A sguare

(B} A rhombus

(C) Either (A) or (B}
(D) Neither (A) nor (B)

150. The trace of a hexagonal plane may be

(A}
(B)
(C)
(D}

A straight ling

A point

A hexagon

An equilateral triangle

151. A B0set-square has iis shortest edge

in the HP and the surface is
perpendicular tothe VP, l1s top view
may appears as

(A) Anisosceles triangle
(B)
G

A right angled friangle
& straight line
(D)} Al of the above

152, A solid havimg minimum numbesr of

faces is
(A} Tetrahedron
{B)
(€}

(D) Cuba

Triangular prism

aquara pyramid

I N1 I

153,

154,

155,

158,

R

MNumber of faces in dodecahedron are
(A) 4
(B) 8
(C)
(D)

12
20

A tetrahedron is resting on its face on
the HF with a side perpendicular to
the VP. lts froni view will be

{A) Equilateral triange

(B) Isosceies triangle

(C)

(D)

Scalene tnangle
Right angled triangle

A cube |s resting on HP with a solid
diagonal perpendicular to . The top
view will appear as

(A)
(B}
(C}
(D)

Square
Rectangle
Irregular hexagon

Regular hexagon

A right circular cone rasting on a
generator in the HP and axis inciined
at 45° to the VP, The angle betwaen
the raferenca fine and top view of the
axis will be

(&) Lessthan45%

(B} 45°
{C) Morethan 45°

{0} None of these
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148,

150

151,

152,

A
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(&) =R
(B) TR EEETYA

(C) T (A) T (B)
(D) + (A) SRAH(B)
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TFEAE |
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B) wHiwg

(C) THEEEEM

(D) - g

T B0 TEAEIE W S oy e
HP 3 & ST S5 908 VP =1 T,

# | S 3l 2feEsm _#
e el e aEa B

(#) TEEEENE ER
(B) T AR vl
(C) WERHTH T

(D) IHEaTA

ST HEATETE S TEETE 0 o |

[A) TO=RCTn
@y R

() it e
(D) =

153,

164,

155.

156,
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SRYEET S TRETe N o T R
(A) 4
(B) @
(C), 12
(D) 20

U e A1 §d HP T T g
P amm s e VP E e R
SEE G W SRR

(A) g B

(8) iy P

(C) Ty B

(D) = i e

HP T T T F 2271 € | A A T2 T
S T i T AT R | [ TH A
IEE T g =1 778
TEEEam |

(A) =i

U T geE T He H fEE v W
Hq o0 IEE S4 457 VP F #
T e 2 | e Y ot v 3
e au e T e e

(A) 45°%HFH

(B) 45°

(C) 45°H HF

(D) = A e i
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157,

158,

158,

A square pyramid 45 mm side. and
axis 60 mm long, resting on s base
in the HP is ¢ut by a horizontal
sachion plane passing through a point
on the axis 20 mm below the apex.
Its true shaps of section is a square
of side

(&) 15mm
(B} 30mm
(C) 40 mm
() 45mm

A eylindar of 50 mm diameter and axis
120 mm leng is lying on its generator
in HP. It is cut by a vertical section
piane to get fargest ellipse as the
shape of section. The major axis of
this ellipse will be

(A} SO mm

(B) Between 50 mmand 10 mm
(G} 120mm

(D) 130mm

if-a polyhedron is cut by any section
plane, the true shape of section is a
elosed figure made up of

{A) Straight fines
{B) Curves

{C) Combination of lines and
curves:

(D) Mona ofthese

Download From - www.allgovtjobsindia.in

160. Objects that are symmetric can be

161.

162,

163.

shown effectively using this type of
sechon

(A} guarer secticn
(B} half section
{C) full section .

(DY symmetric section

When only a small section of an
interior area neads 1o be revealed the
draftar can usea section.

[A)  half

(B) guarter
{C} ful

(D) broken out

Aln) _____cone has two planar
surfaces parallel to sach other.

(A)  truncated
(B) frusirum
(C} right

(D} oblique

What type of curve is creatad by the

intersection of a plane parallel to the
side of acone 7

(A} parabola
(B} hyperbola
(C) ellipse
(D) rouletls




ownioa

rom - www.allgovt

O AL

157.

158.
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160. wftmaTe Fegei =1 Frefafiad § fmg

161,

162.

163,
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(A) =g Fam
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164,

165.

168,

R —

This is how axonometric, cblique
and perspactive sketchas show

objects

(A) Orthographically
(B}
(C)

Pictoriaily
Obliquely

(D) Parallal

What type of sketch shows the front
in true shape 7

(A}
(B} perspective
(C) obliqua

isometnc.

(D) axonomstric

What is the major difference(s)
between parspective and parailel
projection 7

(A) Parallel projection canonly ba
used with objects containing
paraliel edges

(B) Perspective projection givas a
mora realistic representation of

an object

(C) Parallel projection is
equivalent to a perspective
projection where the vieweris

standing infinitely far away

(D) Both (B) and (C)

167.

168.

169

170,

Which of the following objects has to
be developed using an approximate
method ?

(&) cylinder
(B) sphere
(C) rectilinear prism

(D) cone

An intersection of a line and a plane
s referredto as a

(A) tangency
(B} transition piece
(C) dihedral angle

(D) piercing point

Development of sphere is done by
(A) Zone or Lune method
(B)

Parallel line or Radial line
method

Triangulatiovn method

None of these

(C
(0)

Sector of a circls of radius 60 mm and
angie 120° represents development
of the lateral surface of the cone. The
top view of the cone is a circle of
diamater

(A} 20 mm
(B) 40mm
(C)
(D)

EQ mm

BD mm
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165. T v = tafas am g =1 o8
wEErd Enae ?

(A) EwEE
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168.

168,

170
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U Hi=ie o = s B
98 e w e a2 7
(&) Tever

(B) et

(C) ety

(D) W%

U T 1 U wiavded o uF auaw
FeT AT |

(A) Tt
(B) HEHHU &S
(C} Tiam=mm
(0) =wwfag

TamEEm_ atmmsmd
(&) =iy T o S T
(B) i TEn Hya s e e
(C) Pt

(D) % & 1 oyl

soHlH. B a1z S F g
w1 83 ¥ % Wl e F s
Wi | 5 i e
THIAFE . =mmEE

(&) 209,
(B) 40%1H,
(C) BOT.A.
(D) 8ot




{71. The devetopment of surface of &
tetrahedron of 60 mm edge can be
mpm&uﬂl.ad by an equilateral triangle
of side

(Ay E0mm
(8) somm
(Gh 120 mm

(D) Mone of NESE

172. A ractangle of 120 mm « &0 mm

represents the davelopment of the
|ateral surface of

\ (A) A suare prism of side 30 MM
(B) Ammgwﬂlpmﬂmﬁmzu rrm
mjmmmmﬁmmmw

(O} Allof thase

173, Astingis wound around 2 hexagonal

prism of base 20 MM side and axis
50 mm long, to connect opposite and
of sama longer gdge. The minfmum
langth of string required 13

(Ay 110mm
() 120mm
(c) 130mm

(o) 140 mm

A*

174.

176.

177,

II'IIIIIIIIIIIIII"II

The study of intersection of surfaces
helps in

(A} Sheetmetal work

(B) Bullding drawing

(C) Architactural drawing

(D) Al of these

: \rmeuauarhmicyﬂndaﬂspmwtﬁﬂad

by a horizontal cylinder, the top View
of the curve of intersaciion result in

(&) Circular arc
(8) Elliptical are
(C) Closed loop
(D) Noneof these
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178.

179.

180.

181.

When are ribs sactioned ?

(A}  When they are perpendicular
to the cutting plane

(B) When thay are parallal to the
cutting plane

(C) Ribs are always sectioned
(D) Ribs are never sectioned

The direction of line of sight of a
section is Indicated by the

(4) viswing direction of the
saction

(B) offsetsecfion in the section

(C) arrows at the end of the cutting
plane line

(D) dashed lines on tha_ﬁaﬂﬂnn

In an assambly section which of the
following pars are not sectionad 7

(A} threaded fastanars
(B) plastics

(C)  the smallest piace
(D) the outer piece

In an assembly section a thin washer,
gasket or sheet matal is descnbed by

(&) the cast iron crosshatching
symbol

(B) notcrosshatching it
(C) notshowing it
(D) darkening it entirely black

182,

183.

184.

L
11010 AL 1 0 O 5

A limited length or area (such as a
polished end of shaft) is indicated
with a

line.

(A) hidden
iB) chain
(C) section

(D) dimension

Which of the foliowing object gives a
circular section, when it is cut
completely by a section plane
(imespactive of the angle of the section
plane) 7

(A) Cylinder
(B} Sphers
(C) Cone

(D) Circular lamina

In an isomatric projection, the
included angle between the edges of
acube is

(A) 307
(B) 80°

(C) 80°
(0) 120°
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178. Ten s #a @z gam 2 7

7,

180.

181.

(A) ¥ & FET "G F WY waad
e

(B) =& 3 FE=T TWAe & WY T
LGRS
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D) feawdf Aot

U e ) e
= g g e g

(A T im0 e
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Htaen v ffim TR 7

(A) T H =TT

(B) i
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(A) TemEl e fawatEa e
(B) @ FmmfETiw

(C) Tt e

(D) 8 ol et & S
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182. T Hifia e s o (38 vw R

183.

184,

—_—

@1 uiters e gan Bin) M
T %y R

(A) H= a

(B) e
(C) s

(D) =mam

Tttt § 4 Tt == o o
ey S &, m s i = @ e
A BN FE W § | (srieTea
Tererrer gmaa i )

(A) ToeEr
(B) T

C) TF
(D) SR o

Fufiyg ey § 0 T F FEA A
w1 afffsa i R

(A) 30°

(B} &0°

(C) 90

(D) 120°
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185.

186,

187.

188.

In comparison to an isomaetric

projection, tha appearance of an
isometric view is

(A)  Larger

(B) Smaller
(C)
(D)

More accurate

More raalistic

in obligue projection, the receding
lines mast the plane of projection at
an angle

(A) o
(B) a0°
() 90°

(D) Less than 80°

To emphasize the features on the
sida of an object, the receding fline are

- drawn at the following angle to the

plane of prajection
(A} 45°

(B) &0°

(C) Greaterthan 45°
(D) Lessthan 45°

in the general obliqua projection, an
angle at which the projectors meet the
plane of projection is

(A} 45"

(B) 6326

(C) 80

{D) MNone of these

L9
00 D10 R O 0

189. As the distance of an object from the

180.

191.

Taa

observer increasaes, its size In the
parspective viaw

(A} HRemains constant
{B) Increases

(C)
(D)

Decreases y

Mone of these

The axonometric drawing having
different ratics of foreshorisning for all
the three axes is called

(A) dimetric
(B) trimatric
{C) isometric

(D} multiview

A circle will appear on an isomatric
drawing as a(n})

{A) ellipse
(B) cycloid
{C) circle

|B)  parabola

In an isometrc skeich of a cube

(&) the frontal face appears in its

trua shape

(B} the receding axes ara at

45 dagreas to the horizontal
(C)
{D)

all faces are equally distoriad

only the depth distances must
be reduced
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183,

")

184,

185,

196.

One mathod of drawing an ellipse that
represents an isometric pictorial circle
is known as

(A) the box construction method

(B) the coordinate construction
mathod

the four-canter approximation
method

the offsat construction method

(C)

Non-isometnc lines are located and
sketchad how 7

(A) They are drawn parallel to the
isometric axis

They are measured using the
angle from the multiview

They ara measured using a
non-isometric lemplate

They are located by
deiermining the end points of
the non-isometric line

(B)

(C)

(o)

In & perspective drawing, the object
always touches the

{A) ground line

(B) horizon line
(G} measuring fine
(D) station point

Which type of auxiliary view is
projected directly from one of the six
principal views ?

[A) primary

(B) secondary

(C) tertiary

(D} none of the above

197.

198,

188.

200.

D)

L3
A 0 T 0

Graphically, planes can be
represented as

(A)
(B)
(C)
(B)

three non-finear points
a point and a line
twa Intersecting linss :

all of the above

What defines the distance a screw will
travel when rotated 360 degrees 7

(A) crest
(B) rogt
(€} pitch

lead

Which key type has a semicircular

~shape 7

(A)
(E)
1)
(o)

Square

Gib head

Pratt and Whitney
Woodruff

All of the following are parnt of the
English thread specification, except

(A)
(B)
(€)
(o)

thread form
major diamater
tap drill

class of fit
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IMPORTANT INSTRUCTIONS TO CANDIDATES
Fefteaml 3 o oyt srgEer

1. This booklet contains 48 pages. 1. maﬁwiuﬂﬂ i
2 Pl ok o 3 08 S0 | 1 ey e
the Invigliator for reptacement of the Booklat. =ik 3 3, A Rlgs = o A B

13,

14.

5.

16,

18.

1.

Directions : Each gueslion or Incomplste
statemant is followed by four altarnative
supnasted answers or completions. In each
case, you are raquired to salect the one that
corectly answers the question or completes
tha statemant and blacken (@) approprals
circle A, B, G or Dby Blue/Black Ball-Paint Pen
against the quastion concernad in tha
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackenad
by the scribe)

Mark your answer by shading the approprials
gircle against each gueston. The cirele should
be shaded compiletely without lesving any spacn.
The comect method of shading is ghven baiow.

&0 OIOS QO CHOSDO|CE T O]

The Candidate must mark hishar responss
after careful consideration.

Thera i& anly one correct answer o each
guestion. You should blacken (@) the circls
af the appropriate column, viz., A, B, Car D,
if you blacken (@) more than one circle
against any one queston, the answer will ba
freatad as wrong. If you wish to cancel any
answaor, you should compleiely erase that biack
mark In the circle in the Answer-Sheet and then
blacken the circle of revised response.

A machine will read the coded information
In the OMR Answer-Sheel. In case the
information is incomplate/diferent from the
Infarmation given in the application form, the
candidature: of such candidate will ba treated
as cancefled.

Use the space for rough wark given in the
Question Booklet anly and roton the
Answar-Sheet.

You are NOT required to mark your answers

In this Booklel. All answers must be
Indlicated In the Answer-Sheat only.
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Go through instructions given In Page Nao. 1 (Facing Page)

<18




	001.pdf
	002.pdf
	003.pdf
	004.pdf
	005.pdf
	006.pdf
	007.pdf
	008.pdf
	009.pdf
	010.pdf
	011.pdf
	012.pdf
	013.pdf
	014.pdf
	015.pdf
	016.pdf
	017.pdf
	018.pdf
	019.pdf
	020.pdf
	021.pdf
	022.pdf
	023.pdf
	024.pdf
	025.pdf
	026.pdf
	027.pdf
	028.pdf
	029.pdf
	030.pdf
	031.pdf
	032.pdf
	033.pdf
	034.pdf
	035.pdf
	036.pdf
	037.pdf
	038.pdf
	039.pdf
	040.pdf
	041.pdf
	042.pdf
	043.pdf
	044.pdf
	045.pdf
	046.pdf

